
© 2024 Hunter Douglas. All rights reserved. All trademarks used herein are the property of Hunter Douglas.

Palm Beach™ Polysatin™ Shutters

Palm Beach™ Polysatin™ Shutters

Contents
Shutter Panel – Front Tilt................................................................................................................... 2
Shutter Panel – TruView™ Rear Tilt.................................................................................................. 4
Shutter Panel – HiddenTilt™............................................................................................................ 6
Shutter Panel – French Door Cut-Out ............................................................................................. 8
Standard Frames............................................................................................................................. 10
Standard Hardware and Finishing................................................................................................. 12
Bi-Fold Track System........................................................................................................................ 14
Bypass Track System....................................................................................................................... 16
Bypass Open Louver Track System................................................................................................ 18
Bypass Triple Track System.............................................................................................................. 20
Track System Components............................................................................................................. 22
Specialty Shapes – Framed............................................................................................................ 24
Specialty Shapes – Standard Frames............................................................................................ 26



Palm Beach™ Polysatin™ Shutters

2

Contents

Revision:  20 February, 2024

Shutter Panel – Front Tilt

1

5

6

8 9

7

2

3
411

13

10

18

12

17

19

2021

14

15

16

15

16



Palm Beach™ Polysatin™ Shutters

3

Contents

Revision:  20 February, 2024

Shutter Panel – Front Tilt

No.	 PCN	 Description
1.	 VS8375-xxxx	 Stile
2.	 Rail
	 VS490-xxxx	 2"
	 VS8491-xxxx	 4"
3.	 Louver
	 VS797-xxxx	 2.5"
	 VS796-xxxx	 3.5"
	 VS468-xxxx	 4.5"
4.	 Louver End Cap
	 M410-xxx	 2.5"
	 M416-xxx	 3.5"
	 M430-xxx	 4.5"
5.	 M501-xxx	 Stile Cap
6.	 M6800	 Stile Reinforcement
7.	 Tilt Bar
	 1037219	 Bright White
	 1037370	 White
	 1037372	 White Silk
8.	 Front Cufflink
	 1041020	 Bright White
	 1041021	 White
	 1041024	 White Silk
9.	 VS492-xxxx	 Divider Rail
10.	 B486-xxxx	 Astragal
11.	 Light Block
	 B485-xxx	 Solid
	 B485F-xxx	 Flex Light Block
12.	 Stile Cap
	 M590-xxx	 Stile Cap (Used with magnets)
	 M596-xxx	 Inverted Stile Cap (Used without 

magnets)
	 M501A-xxx	 Adjustable Stile Cap (Used without 

magnets)
13.	 R720	 #8 x 2" Panel Screw
14.	 Hinge Pin
	 S601P-xxx	 Painted
	 S601	 Brass Finish
	 S601SS	 Stainless Steel
	 S601BN	 Brushed Nickel Finish
	 S601AB	 Antique Brass Finish
15.	 Hinge Leaf
	 S605P-xxx	 Painted
	 S605	 Brass Finish
	 S605SS	 Stainless Steel
	 S605BN	 Brushed Nickel Finish
	 S605AB	 Antique Brass Finish

No.	 PCN	 Description
16.	 Hinge Screw
	 R706P-136	 Painted
	 R706	 Brass Finish
	 R706SS	 Stainless Steel
	 R706AB	 Antique Brass Finish
	 R706TS	 True Stainless Steel
17.	 Tilt Bar Cap
	 1041025	 Bright White
	 1041026	 White
	 1041028	 White Silk
18.	 D523	 Tension Rod
19.	 Optional Extended Leaf Hinge, 1.25"
	 S603P-xxx	 Painted
	 S603	 Brass Finish
	 S603SS	 Stainless Steel
	 S603BN	 Brushed Nickel Finish
	 S603AB	 Antique Brass Finish
20.	 Optional Wrap Around Hinge
	 S604P-xxx	 Painted
	 S604	 Brass Finish
	 S604SS	 Stainless Steel
	 S604BN	 Brushed Nickel Finish
	 S604AB	 Antique Brass Finish
21.	 RF20	 Louver Reinforcement

Optional Parts (not shown)
	 WHPACC	 Extension Pole

Not Shown
	 R650P-136	 1/2" Hinge Screw

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk



Palm Beach™ Polysatin™ Shutters

4

Contents

Revision:  20 February, 2024

Shutter Panel – TruView™ Rear Tilt

6

9 7

2

3

5

4

5

4

1

8

18

17

19

20

10
8

11

12

12

13

13

16 14

15

21



Palm Beach™ Polysatin™ Shutters

5

Contents

Revision:  20 February, 2024

Shutter Panel – TruView™ Rear Tilt

No.	 PCN	 Description
1.	 VS8375-xxxx	 Stile
2.	 Rail
	 VS490-xxxx	 2"
	 VS8491-xxxx	 4"
3.	 Louver
	 VS797 -xxxx	 2.5"
	 VS796 -xxxx	 3.5"
	 VS468 -xxxx	 4.5"
4.	 M501-xxx	 Stile Cap
5.	 M6800	 Stile Reinforcement
6.	 VS492 -xxxx	 Divider Rail
7.	 B486 -xxxx	 Astragal
8.	 B485F-xxx	 Flex Light Block
9.	 Stile Cap
	 M590-xxx	 Stile Cap (Used with magnets)
	 M596-xxx	 Inverted Stile Cap (Used without 

magnets)
	 M501A-xxx	 Adjustable Stile Cap (Used without 

magnets)
10.	 R720	 #8 x 2" Panel Screw
11.	 Hinge Pin
	 S601P-xxx	 Painted
	 S601	 Brass Finish
	 S601SS	 Stainless Steel
	 S601BN	 Brushed Nickel Finish 
	 S601AB	 Antique Brass Finish
12.	 Hinge Leaf
	 S605P-xxx	 Painted
	 S605	 Brass Finish
	 S605SS	 Stainless Steel
	 S605BN	 Brushed Nickel Finish
	 S605AB	 Antique Brass Finish
13.	 Hinge Screw
	 R706P-136	 Painted
	 R706	 Brass Finish
	 R706SS	 Stainless Steel
	 R706AB	 Antique Brass Finish
	 R706TS	 True Stainless Steel
14.	 M546-xxx	 Rear Tilt Connector
15.	 VS560-xxx	 Rear Tilt Bar

No.	 PCN	 Description
16.	 Louver End Cap – Rear Tilt
	 M481-xxx	 2.5"
	 M487-xxx	 3.5"
	 M491-xxx	 4.5"
17.	 Louver End Cap
	 M410-xxx	 2.5"
	 M416-xxx	 3.5"
	 M430-xxx	 4.5"
18.	 D523	 Tension Rod
19.	 Optional Extended Leaf Hinge, 1.25"
	 S603P-xxx	 Painted
	 S603	 Brass Finish
	 S603SS	 Stainless Steel
	 S603BN	 Brushed Nickel Finish
	 S603AB	 Antique Brass Finish
20.	 Optional Wrap Around Hinge
	 S604P-xxx	 Painted
	 S604	 Brass Finish
	 S604SS	 Stainless Steel
	 S604BN	 Brushed Nickel Finish
	 S604AB	 Antique Brass Finish
21.	 RF20	 Louver Reinforcement

Optional Parts (not shown)
	 WHPACC	 Extension Pole

Not Shown
	 R650P-136	 1/2" Hinge Screw

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk



Palm Beach™ Polysatin™ Shutters

6

Contents

Revision:  20 February, 2024

Shutter Panel – HiddenTilt™

2

9

8

3
4

6

5

7

1
12

14

11

13
10

10

15

16

17
18

19



Palm Beach™ Polysatin™ Shutters

7

Contents

Revision:  20 February, 2024

No.	 PCN	 Description
1.	 VS8375-xxx	 Stile
2.	 Rail
	 VS490-xxxx	 2"
	 VS8491-xxxx	 4"
3.	 Louver
	 VS797-xxx	 2.5" 
	 VS796-xxx	 3.5"
	 VS468-xxx	 4.5"
4.	 Louver End Cap Gear
	 M560-xxx	 2.5"
	 M561-xxx	 3.5"
	 M562-xxx	 4.5"
5.	 Louver End Cap
	 M410-xxx	 2.5"
	 M416-xxx	 3.5"
	 M430-xxx	 4.5"
6.	 Stile Reinforcement
	 M6804	 4" Rail
	 M6802	 2" Rail
7	 M6800	 Stile Reinforcement
8.	 M501-xxx	 Stile Cap
9.	 Stile Cap
	 M590-xxx	 Stile Cap (Used with magnets)
	 M596-xxx	 Inverted Stile Cap (Used without 

magnets)
	 M501A-xxx	 Adjustable Stile Cap (Used without 

magnets)
10.	 R720	 #8 x 2" Panel Screw
11.	 B485-xxx	 Light Block
12.	 D523	 Tension Rod
13.	 B485F-xxx	 Flex Light Block
14.	 M569A	 Shutter Gear Rack Assembly
15.	 VS560-xxx	 Rear Tilt Bar

Shutter Panel – HiddenTilt™

No.	 PCN	 Description
16.	 Hinge Pin
	 S601P-xxx	 Painted
	 S601	 Brass Finish
	 S601SS	 Stainless Steel
	 S601BN	 Brushed Nickel Finish
	 S601AB	 Antique Brass Finish
17.	 Hinge Leaf
	 S605P-xxx	 Painted
	 S605	 Brass Finish
	 S605SS	 Stainless Steel
	 S605BN	 Brushed Nickel Finish
	 S605AB	 Antique Brass Finish
18.	 Hinge Screw
	 R706P-136	 Painted
	 R706	 Brass Finish
	 R706SS	 Stainless Steel
	 R706AB	 Antique Brass Finish
	 R706TS	 True Stainless Steel
19.	 RF20	 Louver Reinforcement

Optional Parts (not shown)
	 WHPACC	 Extension Pole

Not Shown
	 R650P-136	 1/2" Hinge Screw

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk



Palm Beach™ Polysatin™ Shutters

8

Contents

Revision:  20 February, 2024

Shutter Panel – French Door Cut-Out 

19

21
20

1

1

1

17

16

10

11

11

15

13

16

18

18

17

15

4

9

3

7
8

6

1

2 

16

5

3

16

17

18

16

5

4

1

6

14

22

23

12

12



Palm Beach™ Polysatin™ Shutters

9

Contents

Revision:  20 February, 2024

Shutter Panel – French Door Cut-Out 

No.	 PCN	 Description
1.	 N/A	 Frame
2.	 M362	 Frame Corner Key
3.	 VS8375-xxxx	 Stile
4.	 M501-xxx	 Stile Cap
5.	 M596-xxx	 Inverted Stile Cap
6.	 Rail
	 VS490-xxxx	 2"
	 VS8491-xxxx	 4"
7.	 Louver
	 VS797-xxxx	 2.5"
	 VS796-xxxx	 3.5"
	 VS468-xxxx	 4.5"
8.	 Louver End Cap
	 M410-xxx	 2.5"
	 M416-xxx	 3.5"
	 M430-xxx	 4.5"
9.	 French Door Cut-Out L-Frame Plate
	 M1160-xxx	 With 0 Extensions
	 M1161-xxx	 With 1 Extensions
	 M1162-xxx	 With 2 Extensions
	 M1163-xxx	 With 3 Extensions
	 M1164-xxx	 With 4 Extensions
10.	 M1153-xxx	 French Door Cut-Out Body Lid Set
	 M1150-xxx	 French Door Cut-Out Body
	 M1151-xxx	 French Door Cut-Out Lid
11.	 M1152-xxx	 French Door Cut-Out End Cap
12.	 Magnet Kit
	 KIT4551	 Bright White
	 KIT4553	 White Silk
13.	 Front Cufflink
	 1041020	 Bright White
	 1041021	 White
	 1041024	 White Silk
14.	 Tilt Bar
	 1037219	 Bright White
	 1037370	 White
	 1037372	 White Silk
15.	 Tilt Bar Cap
	 1041025	 Bright White
	 1041026	 White
	 1041028	 White Silk
16.	 M6800	 Stile Reinforcement
17.	 R720	 #8 x 2" Panel Screw
18.	 Light Block
	 B485-xxx	 Solid
	 B485F-xxx	 Flex Light Block
19.	 Hinge Pin
	 S601P-xxx	 Painted
	 S601	 Brass Finish
	 S601SS	 Stainless Steel
	 S601BN	 Brushed Nickel Finish
	 S601AB	 Antique Brass Finish

No.	 PCN	 Description
20.	 Hinge Screw
	 R706P-136	 Painted
	 R706	 Brass Finish
	 R706SS	 Stainless Steel
	 R706AB	 Antique Brass Finish
	 R706TS	 True Stainless Steel
21.	 Hinge Leaf
	 S605P-xxx	 Painted
	 S605	 Brass Finish
	 S605SS	 Stainless Steel
	 S605BN	 Brushed Nickel Finish
	 S605AB	 Antique Brass Finish
22.	 D523	 Tension Rod
23.	 RF20	 Louver Reinforcement

Optional Parts (not shown):
	 VS492-xxxx	 Divider Rail
TruView™ Rear Tilt
	 M546-xxx	 Rear Tilt Connector
	 VS560-xxx	 Rear Tilt Bar
	 Louver End Cap – Rear Tilt
	 M481-xxx	 2.5"
	 M487-xxx	 3.5"
	 M491-xxx	 4.5"
HiddenTilt™
	 M563	 Gear
	 M564	 Gear Rack
	 M565	 Gear Housing
	 M566	 Gear Housing Cover
	 Stile Reinforcement
	 M6804	 4" Rail
	 M6802	 2" Rail
	 Louver End Cap Gear
	 M560-xxx	 2.5"
	 M561-xxx	 3.5"
	 M562-xxx	 4.5"

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk



Palm Beach™ Polysatin™ Shutters

10

Contents

Revision:  20 February, 2024

Standard Frames

1 2

10 11

5 6

987

12 13

18
19

22 23
21

24 25

26 27

14 15
16 17

20

3

28

4



Palm Beach™ Polysatin™ Shutters

11

Contents

Revision:  20 February, 2024

Standard Frames

No.	 OCN	 Description
1.	 M510L-xxx	 L-Frame Cap
2.	 VS8186-xxxx	 Standard L-Frame (L21)
3.	 M510LE-xxx	 L-Frame Build-Out Cap
4.	 VS187-xxxx	 L-Frame Build-Out (LFBO)
5.	 M510SZ1-xxx	 Standard Z-Frame Cap
6.	 VS8790-xxxx	 Standard Z-Frame (Z21)
7.	 M510T-SILL-xxx	 Decorative Z/Sill Frame Cap
8.	 VS8463-xxxx	 Decorative Z-Frame (Z22)
9.	 VS8363-xxxx	 Decorative/Classic Z-Sill Frame (S22)
10.	 M510CZ-xxx	 Colonial Z-Frame Cap
11.	 VS8783-xxxx	 Colonial Z-Frame (Z23)
12.	 M510T-xxx	 Classic Z-Frame Cap
13.	 VS8764-xxxx	 Classic Z-Frame (Z24)
14.	 M510BZ-xxx	 Modern Z-Frame Cap
15.	 VS8768-xxxx	 Modern Z-Frame (Z26)
16.	 M510BZ-SILL-xxx	 Modern Z-Sill Frame Cap
17.	 VS8367-xxxx	 Modern Z-Sill Frame (S26)
18.	 M510C-xxx	 Deluxe Casing Frame Cap
19.	 VS8464-xxxx	 Deluxe Casing Frame (C21)
20.	 M510CE-xxx	 Deluxe Casing Frame Build-Out Cap
21.	 VS188-xxxx	 Deluxe Casing Frame Build-Out (CFBO)
22.	 M510CS-xxx	 Deluxe Casing Frame Sill Cap
23.	 VS8460-xxxx	 Deluxe Casing Sill/Extended L-Frame (S21)
24.	 M510TB-xxx	 T-Post Cap
25.	 VS8305-xxxx	 T Post (T)
26.	 VS113-xxxx	 3/4" Hang Strip (HS21)
27.	 VS345-xxxx	 1" Hang Strip (HS22)
28.	 VS980-xxxx	 Decorative Sill Cover (SC21)

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk



Palm Beach™ Polysatin™ Shutters

12

Contents

Revision:  20 February, 2024

Standard Hardware and Finishing

3

6
7

8

9

12

10

B
A

2

5

1

14

11

15

4

13

16



Palm Beach™ Polysatin™ Shutters

13

Contents

Revision:  20 February, 2024

No.	 PCN	 Description
1.	 D018-xxx	 Casing Frame Cover Strip
2.	 D005-xxxx	 Standard L-Frame Cover Strip
3.	 M570	 T-Post Alignment Block
4.	 T-Post Bracket Kit
	 KIT4554	 Bright White
	 KIT4555	 White
	 KIT4557	 White Silk
5.	 D015-xxx	 Rubber Flex
6.	 VS618-xxxx	 1/4" Light Stop/Trim Strip (LS21)
7.	 VS620-xxxx	 1/2" Light Stop/Trim Strip (LS22)
8.	 M362	 Frame Corner Key
9.	 KIT4536	 Metal L Bracket Kit
	 R777	 Metal L Bracket (2)
	 R650SS	 #6 x 1/4" Flat Head Screw (8)
10.	 Installation Screw Kit
	 KIT4579	 R701 #8 x 11/2" Pan Head Screw (12 pk)
	 KIT4581	 R702 #8 x 2" Pan Head Screw (12 pk)
	 KIT4583	 R707 #8 x 3" Pan Head Screw (12 pk)
11.	 M513	 Louver Tensioner
12.	 Button Plug Kit
	 KIT4587	 M508B – 136 Button Plug w/VGroove Bright White (12pk)
	 KIT4588	 M508B – 137 Button Plug w/VGroove White (12pk)
	 KIT4590	 M508B – 151 Button Plug w/VGroove White Silk(12pk)
13.	 Magnet Kit	
	 KIT4551	 Bright White
	 KIT4553	 White Silk
14.	 KIT4586	 Hinge Shim/Washer KIT
14a.	 M511	 Hinge Shim
14b.	 HB040	 Washer

Optional Parts
15.	 Panel Ramp Kit
	 KIT4547	 Bright White
	 KIT4548	 White
	 KIT4550	 White Silk 
16.	 WHPACC	 Extension Pole

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk

Standard Hardware and Finishing



Palm Beach™ Polysatin™ Shutters

14

Contents

Revision:  20 February, 2024

Bi-Fold Track System

3 1

4

2

18

5

16

19

9b

17

21

7

6

8

9a

20

2

3

13

10

11

12

14

2

15

9c Bracket
9d Screw



Palm Beach™ Polysatin™ Shutters

15

Contents

Revision:  20 February, 2024

Bi-Fold Track System

No.	 PCN	 Description
1.	 N/A	 Standard Panel Assembly
2.	 VS8465-xxxx	 Bi-Fold Track Frame (BF)
3.	 M630	 Track Support Spacer
4.	 WHT17000	 Bi-Fold/Bypass Track
5.	 R704	 #8 X 1" Pan Head Screw
6.	 WHT14000	 Hanger Rollers
7.	 DB01BB	 Hanger Plate
8.	 R705	 #6 X 3/4" Round Head Screw
9.	 KIT4532	 Bi-Fold Track Pivot Kit
9a.	 N/A	 Upper Bi-Fold Track Pivot Hanger
9b.	 N/A	 Snubber
9c.	 N/A	 Panel Pivot Bracket
9d.	 N/A	 #8 x 3/4" Flat Head Screw
10.	 Hinge Pin
	 S601P-xxx	 Painted
	 S601	 Brass Finish
	 S601SS	 Stainless Steel
	 S601BN	 Brushed Nickel Finish
	 S601AB	 Antique Brass Finish
11.	 Hinge Leaf
	 S605P-xxx	 Painted
	 S605	 Brass Finish
	 S605SS	 Stainless Steel
	 S605BN	 Brushed Nickel Finish
	 S605AB	 Antique Brass Finish
12.	 Hinge Screw
	 R706P-136	 Painted
	 R706	 Brass Finish
	 R706SS	 Stainless Steel
	 R706AB	 Antique Brass Finish
	 R706TS	 True Stainless Steel
13.	 KIT4538	 Bi-Fold Bottom Track Guide Kit
		  Bi-Fold Track Bottom Pivot Pivot Pin 

Hat
14.	 KIT4533	 Bi-Fold Bottom Track Pivot Kit
		  Bi-Fold Bottom Track Pivot 

#6 x 1/2" Pan Head Screws (2)
15.	 V1841-xxx	 Bi-Fold Bottom Track
16.	 VS8596-xxxx	 Bi-Fold Standard Valance (BFSV)
17.	 M362	 Corner Key
18.	 MT-07	 Valance Clip
19.	 KIT4579	 R701 #8 x 11/2" Pan Head  

Screw (12 pk)
20.	 WHT05000	 Hardware Wrench

Optional Parts
21.	 VS8598-xxxx	 Decorative Valance (DEC)

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk



Palm Beach™ Polysatin™ Shutters

16

Contents

Revision:  20 February, 2024

Bypass Track System

1
3

2

2

6

5

13

5

16

18

19

20

20

21

5

11

12

10

14

9

7

4
8 17

2 15
3



Palm Beach™ Polysatin™ Shutters

17

Contents

Revision:  20 February, 2024

Bypass Track System

No.	 PCN	 Description
1.	 N/A	 Standard Panel Assembly
2.	 VS8542-xxxx	 Bypass Track Frame (BP)
3.	 M630	 Track Support Spacer
4.	 WHT17000	 Bi-Fold/Bypass Track
5.	 R704	 #8 X 1" Pan Head Screw
6.	 Bypass Bracket
	 70-L450-xxx	 Small Bypass Bracket
	 70-I425-xxx	 3/4" Bypass Bracket Extension
	 70-I500-xxx	 11/2" Bypass Bracket Extension
7.	 KIT4527	 #8 x 2" Pan Head Screw Kit (3pk)
8.	 WHT14000	 Hanger Rollers
9.	 DB01BB	 Hanger Plate
10.	 R705	 #6 X 3/4" Round Head Screw
11.	 VS8597-xxxx	 Bypass Standard Valance (BPSV)
12.	 M362	 Corner Key
13.	 MT-07	 Valance Clip
14.	 KIT4579	 R701 #8 x 11/2" Pan Head Screw (12 

pk)
15.	 WHT05000	 Hardware Wrench
16.	 VS345-xxxx	 1" Hang Strip (Privacy Strip)
17.	 KIT4564	 BP/BF Friction Brake Kit (2pk)

Optional Parts
18.	 VS8598-xxxx	 Decorative Valance (DEC)
19.	 M645-xxx	 Floor Guide (FGBP)
20.	 Bypass Bottom Track (BPB)
	 D1649-xxx	 Bypass Bottom Track Guide
	 D1650-xxx	 Bypass Bottom Track
21.	 Hidden Panel Bypass Guide (UL)
	 D224-xxx	 Front Bypass Guide
	 D225-xxx	 Back Bypass Guide

Optional Parts (not shown)
Hinge Pin
	 S601P-xxx	 Painted
	 S601	 Brass Finish
	 S601SS	 Stainless Steel
	 S601BN	 Brushed Nickel Finish
	 S601AB	 Antique Brass Finish
Hinge Leaf
	 S605P-xxx	 Painted
	 S605	 Brass Finish
	 S605SS	 Stainless Steel
	 S605BN	 Brushed Nickel Finish
	 S605AB	 Antique Brass Finish
Hinge Screw
	 R706P-136	 Painted
	 R706	 Brass Finish
	 R706SS	 Stainless Steel
	 R706AB	 Antique Brass Finish
	 R706TS	 True Stainless Steel

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk



Palm Beach™ Polysatin™ Shutters

18

Contents

Revision:  20 February, 2024

Bypass Open Louver Track System

13

14

15

18

18

1919
4

12

11
16

8
7

1

5

6 4

4

3

10

17
9

2



Palm Beach™ Polysatin™ Shutters

19

Contents

Revision:  20 February, 2024

Bypass Open Louver Track System

No.	 PCA	 Description
1. 	 N/A	 Standard Panel Assembly
2.	 VS8548-xxxx	 Bypass Open Louver/Bypass Triple 

Track Frame (BO/BT)
3. 	 70-L725-xxx 	 Large Bypass Bracket
4. 	 R704	 #8 X 1” Pan Head Screw
5. 	 KIT4527	 #8 x 2” Pan Head Screw Kit (3pk)
6. 	 WHT17000	 Bi-Fold/Bypass Track
7. 	 VS8597-xxxx	 Bypass Standard Valance (BPSV)
8.	 M362	 Frame Corner Key
9. 	 MT-07	 Valance Clip
10.	 KIT4579	 R701 #8 x 11/2" Pan Head Screw (12 

pk)
11. 	 R705	 #6 X 3/4" Round Head Screw
12. 	 WHT14000	 Hanger Rollers
13. 	 DB01BB	 Hanger Plate
14. 	 WHT05000	 Hardware Wrench
15.	 VS8375-xxxx	 Stile (Privacy Strip)
16.	 KIT4564	 BP/BF Friction Brake Kit (2pk)
17.	 M630	 Track Support Spacer

Optional Parts
18.	 Bypass Bottom Track (BPB)
	 D1649-xxx	 Bypass Bottom Track Guide
	 D1650-xxx	 Bypass Bottom Track
19. 	 M648-xxx	 Floor Guide Open/Triple (FGOT)

Optional Parts (not shown)
	 VS8598-xxxx	 Decorative Valance (DEC)
Hinge Pin
	 S601P-xxx	 Painted
	 S601	 Brass Finish
	 S601SS	 Stainless Steel
	 S601BN	 Brushed Nickel Finish
	 S601AB	 Antique Brass Finish
Hinge Leaf
	 S605P-xxx	 Painted
	 S605	 Brass Finish
	 S605SS	 Stainless Steel
	 S605BN	 Brushed Nickel Finish
	 S605AB	 Antique Brass Finish
Hinge Screw
	 R706P-136	 Painted
	 R706	 Brass Finish
	 R706SS	 Stainless Steel
	 R706AB	 Antique Brass Finish
	 R706TS	 True Stainless Steel

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk



Palm Beach™ Polysatin™ Shutters

20

Contents

Revision:  20 February, 2024

Bypass Triple Track System

13

1611

10

15

14

112

8

7

4

17

6

4

3

2

5
9

1

18
19199
4

18



Palm Beach™ Polysatin™ Shutters

21

Contents

Revision:  20 February, 2024

Bypass Triple Track System

No.	 PCN	 Description
1.	 N/A	 Standard Panel Assembly
2.	 VS8548-xxxx	 Bypass Open Louver/Bypass Triple 

Track Frame (BO/BT)
3.	 70-L725-xxx	 Large Bypass Bracket
4.	 R704	 #8 x 1" Pan Head Screw
5.	 KIT4527	 #8 x 2" Pan Head Screw Kit (3pk)
6.	 WHT17000	 Bi-Fold/Bypass Track
7.	 VS8597-xxxx	 Bypass Standard Valance (BPSV)
8.	 M362	 Frame Corner Key
9.	 MT-07	 Valance Clip
10.	 KIT4579	 R701 #8 x 11/2" Pan Head Screw (12 

pk)
11.	 R705	 #6 X 3/4" Round Head Screw
12.	 WHT14000	 Hanger Rollers
13.	 DB01BB	 Hanger Plate
14.	 WHT05000	 Hardware Wrench
15.	 VS345-xxxx	 1" Hang Strip (Privacy Strip)
16.	 KIT4564	 BP/BF Friction Brake Kit (2pk)
17.	 M630	 Track Support Spacer

Optional Parts
18.	 Bypass Bottom Track (BPB)
	 D1649-xxx	 Bypass Bottom Track Guide
	 D1650-xxx	 Bypass Bottom Track
19.	 M648-xxx	 Floor Guide Open/Triple (FGOT)

Optional Parts (not shown)
	 VS8598-xxxx	 Decorative Valance (DEC)
Hinge Pin
	 S601P-xxx	 Painted
	 S601	 Brass Finish
	 S601SS	 Stainless Steel
	 S601BN	 Brushed Nickel Finish
	 S601AB	 Antique Brass Finish
Hinge Leaf
	 S605P-xxx	 Painted
	 S605	 Brass Finish
	 S605SS	 Stainless Steel
	 S605BN	 Brushed Nickel Finish
	 S605AB	 Antique Brass Finish
Hinge Screw
	 R706P-136	 Painted
	 R706	 Brass Finish
	 R706SS	 Stainless Steel
	 R706AB	 Antique Brass Finish
	 R706TS	 True Stainless Steel

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk



Palm Beach™ Polysatin™ Shutters

22

Contents

Revision:  20 February, 2024

Track System Components

1

4

3

2

5 6

7
8

9 10
11

13
14

12



Palm Beach™ Polysatin™ Shutters

23

Contents

Revision:  20 February, 2024

Track System Components

No.	 PCN	 Description
1.	 VS8622-xxxx	 Track Frame Build-Out (TFBO)
2.	 VS8465-xxxx	 Bi-Fold Track Frame (BF)
3.	 VS8542-xxxx	 Bypass Track Frame (BP)
4.	 VS8548-xxxx	 Bypass Open Louver/Bypass Triple Track Frame (BO/BT)
5.	 M510BFV-xxx	 Bi-Fold Standard Valance Cap
6.	 VS8596-xxxx	 Bi-Fold Standard Valance 
7.	 M510BPV-xxx	 Bypass Standard Valance Cap
8.	 VS8597-xxxx	 Bypass Standard Valance
9.	 M510CV-xxx	 Decorative Valance Cap
10.	 VS8598-xxxx	 Decorative Valance
11.	 MT-07	 Valance Clip
12.	 KIT4579	 R701 #8 x 11/2" Pan Head Screw (12pk)
13.	 KIT4564	 BP/BF Friction Brake Kit (2pk)
14.	 M630	 Track Support Spacer

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk



Palm Beach™ Polysatin™ Shutters

24

Contents

Revision:  20 February, 2024

Specialty Shapes – Framed

2

1

13

12
18

16

17

15

11

14

4

7
8

5
6

3
9

10

Perfect Arch
(A1)

Quarter Circle
(A2)

Eyebrow
(A5)

Extended Eyebrow
(A4)

Extended 
Angle
(A7)

Extended Arch
(A4)

Angle
(A7)

Pentagon
(A8)

Octagon
(T4)

Hexagon
(T4)



Palm Beach™ Polysatin™ Shutters

25

Contents

Revision:  20 February, 2024

Specialty Shapes – Framed

No.	 PCN	 Description
1.	 N/A	 Frame
2.	 N/A	 Arch Panel
3.	 Front Tilt Bar
	 1037219	 Bright White
	 1037370	 White
	 1037372	 White Silk
4.	 Tilt Bar Cap
	 1041025	 Bright White
	 1041026	 White
	 1041028	 White Silk
5.	 Front Cufflink
	 1041020	 Bright White
	 1041021	 White
	 1041024	 White Silk
6.	 Louver
	 VS797-xxxx	 2.5"
	 VS796-xxxx	 3.5"
7.	 Louver End Cap
	 M410-xxx	 2.5"
	 M416-xxx	 3.5"
8.	 Louver End Cap – Rear Tilt
	 M481-xxx	 2.5"
	 M487-xxx	 3.5"
9.	 M546-xxx	 Rear Tilt Connector
10.	 VS560-xxx	 Rear Tilt Bar
11.	 M270-xxx	 Panel Lock Plunger
12.	 M591-xxx	 Spacer
13.	 R706-xxx	 Spacer Screw
14.	 CM503-xxx	 Magnet and Plate
15.	 R705	 Magnet Screw
16.	 Hinge Leaf
	 S605P-xxx	 Painted
	 S605	 Brass Finish
	 S605SS	 Stainless Steel
	 S605BN	 Brushed Nickel Finish
	 S605AB	 Antique Brass Finish
17.	 Hinge Screw
	 R706P-XXX	 Painted
	 R706	 Brass Finish
	 R706SS	 Stainless Steel
	 R706AB	 Antique Brass Finish
	 R706TS	 True Stainless Steel
18.	 Hinge Pin
	 S601P-xxx	 Painted
	 S601	 Brass Finish
	 S601SS	 Stainless Steel
	 S601BN	 Brushed Nickel Finish
	 S601AB	 Antique Brass Finish

Optional Parts (not shown)
	 WHPACC	 Extension Pole

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk



Palm Beach™ Polysatin™ Shutters

26

Contents

Revision:  20 February, 2024

Specialty Shapes – Standard Frames

1 2

10 11

5 6

9

87

12 13

18 19

22 23

21

24

14 15
16 17

20

3
4



Palm Beach™ Polysatin™ Shutters

27

Contents

Revision:  20 February, 2024

Specialty Shapes – Standard Frames

No.	 PCN	 Description
1.	 M510L-xxx	 L-Frame Cap
2.	 VS8186-xxxx	 Standard L-Frame (L21)
3.	 M510LE-xxx	 L-Frame Build-Out Cap
4.	 VS187-xxxx	 L-Frame Build-Out (LFBO)
5.	 M510SZ1-xxx	 Standard Z-Frame Cap
6.	 VS8790-xxxx	 Standard Z-Frame (Z21)
7.	 M510T-SILL-xxx	 Decorative Z/Sill Frame Cap
8.	 VS8463-xxxx	 Decorative Z-Frame (Z22)
9.	 VS8363-xxxx	 Decorative/Classic Z-Sill Frame (S22)
10.	 M510CZ-xxx	 Colonial Z-Frame Cap
11.	 VS8783-xxxx	 Colonial Z-Frame (Z23)
12.	 M510T-xxx	 Classic Z-Frame Cap
13.	 VS8764-xxxx	 Classic Z-Frame (Z24)
14.	 M510BZ-xxx	 Modern Z-Frame Cap
15.	 VS8768-xxxx	 Modern Z-Frame (Z26)
16.	 M510BZ-SILL-xxx	 Modern Z-Sill Frame Cap
17.	 VS8367-xxxx	 Modern Z-Sill Frame (S26)
18.	 M510C-xxx	 Deluxe Casing Frame Cap
19.	 VS8464-xxxx	 Deluxe Casing Frame (C21)
20.	 M510CE-xxx	 Deluxe Casing Frame Build-Out Cap
21.	 VS188-xxxx	 Deluxe Casing Frame Build-Out (CFBO)
22.	 M510CS-xxx	 Deluxe Casing Frame Sill Cap
23.	 VS8460-xxxx	 Deluxe Casing Sill/Extended L-Frame (S21)
24.	 VS980-xxxx	 Decorative Sill Cover (SC21)

xxx or xxxx = Color Code

Available Colors
	 136 and 5136	 Bright White
	 137 and 5137	 White
	 151 and 5151	 White Silk


	Shutter Panel – Front Tilt
	Shutter Panel – TruView™ Rear Tilt
	Shutter Panel – HiddenTilt™
	Shutter Panel – French Door Cut-Out 
	Standard Frames
	Standard Hardware and Finishing
	Bi-Fold Track System
	Bypass Track System
	Bypass Open Louver Track System
	Bypass Triple Track System
	Track System Components
	Specialty Shapes – Framed
	Specialty Shapes – Standard Frames

